| Efficiency vs Dxy |
0.1

R
006k
HERER -
oo

008t
GO
S
002
0

‘...................-Iu..!................

ot

o e o L S

PP IO UL OO SUUOE U OO WOON O S
_JB20-15-10 =50 5 10 15 20 25

—=— DQM DisplacedSUSY CKF—
— —e— DQM_DisplacedSUSY__mkFit_

| Efficiency vs Dz | | . pSM DisplacedSUSY CKF._BDT

0.1 —+— DQM_DisplacedSUSY__mkFit_BDT_

000

T e N —
0.07f- i g | :
0.08f e Tt s

005_ """"" """ ||

0.04f - ....... i 1

0.08F i

0.02F - ..... 1

0.02++--w-o t
.0

: 1
| EEEEEREREEFEEEEF S8 TEr B

0.8+




	Contents
	Page 1


